Computer Proficiency Certification Test

Notations:
l.OptiOﬂS shomwl in greer color and with % icon are correct.

2 .Options shown in red color and with % icon are incorrect.

Question Paper Name: Computer Proficiency Certification Test CPCT 20th April 2018 Shiftl
Subject Name: Computer Proficiency Certification Test CPCT
Creation Date: 2018-04-20 13:14:21
Duration: 95
Total Marks: 75
Display Marks: Yes
Calculator: None
Magnifying Glass Required?: No
Ruler Required?: No
Eraser Required?: No
Scratch Pad Required?: No
Rough Sketch/Notepad Required?: No
Protractor Required?: No

CPCT
Group Number : 1
Group Id: 28470310
Group Maximum Duration : 75
Group Minimum Duration : 75
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 1
Mandatory Break time: Yes
Group Marks: 75

COMPUTER PROFICIENCY & FROFICIENCY [N GEMERAL IT SKILLS AND NETWORKING

Section Id : 28470322
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 52
Number of Questionsto be attempted: 52
Section Marks: 52
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 28470322

Question Shuffling Allowed : Yes



Question Number : 1 Question Id : 284703235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The email component of Internet Explorer is called as:

Options:

, » Messenger mailbox

> % Message box
-  Outlook express

4 % DBrowser

Question Number : 1 Question Id : 284703235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 284703236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft PowerPoint, what are the two kinds of sound effect files that can be added to a presentation?

Options:
1 « .wav and .mid files

» » -wav and .gif files

5 % -wavand .jpg files

4 % -Jpgand .gif files

Question Number : 2 Question Id : 284703236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 284703237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Microsoft Excel. calculation in a spreadsheet is performed by:

Options:
1 « Formula

- % Reference

5 % Argument

4 = Special Characters

Question Number : 3 Question Id : 284703237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 284703238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



In a computer, where are the ROM, microprocessor, RAM and expansion located?

Options:
1 % Hard disk

> # Floppy disk

3 « Mother board

4 % Processor language

Question Number : 4 Question Id : 284703238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 284703239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements regarding Microsoft Word is NOT true?

Options:
, w Inits default setting. a word processor does not hyphenate the text.

- u Hyphenating helps when you are dealing with thin columnar text.

- % BY hyphenating. the justified thin columns look better.

4  Microsoft Word hyphenates text in its default settings.

Question Number : 5 Question Id : 284703239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 284703240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To return the selected cells to the default font styvle and size in Microsoft Excel, select check box from

the Font property sheet.
Options:
1 % reset

- % Tnone
3 « normal

4 % back

Question Number : 6 Question Id : 284703240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TN TR I T S T e e g i e A e S . s o e
IF TEE A

Options:

1.%&@2—
o % ool
5 v AHA
4.&gaTnF

Question Number : 7 Question Id : 284703241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be used to create a presentation from scratch?

Options:



1 Blank presentation
- u Design templates
5 ® Sample presentation

4 % Sample templates

Question Number : 7 Question Id : 284703241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 284703242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The page that opens first when a website is opened is called:
Options:

1 & Home page

5 % Master page

5 w First page

, » Primary page

Question Number : 8 Question Id : 284703242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 284703243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a ISP company?

Options:
1 ®% PSINet

-~ % UUNet

5  Google

4 % Netcom

Question Number : 9 Question Id : 284703243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % PSINet
- % UUNet

-,  Google

4 % Netcom

Question Number : 10 Question Id : 284703244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When you are working with a variety of computer tools at the same time, what are you doing?

Options:
 » Working efficiently

- % Using open-source systems



5 » Wworking in a UNIX environment

4  Multitasking

Question Number : 10 Question Id : 284703244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 284703245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is created through the internet. by a Virtual Private Network?

Options:
1 « Tunnel

o R BRI
=z % Packet

4 % SSH session

Question Number : 11 Question Id : 284703245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 284703246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first electronic computer ENIAC was designed by:

Options:
1 ® Van-Neumann

-~ % Joseph M. Jacquard

o « 1. Presper Eckert and John W. Mauchly

4 % Dennis Ritchie

Question Number : 12 Question Id : 284703246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 284703247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The two types of IP addressing mechanisms are and

Options:
, % IPv2,IPv3
- % IPv2,IPv4

5 u IPv2,IPV6

4 v IPv4,IPV6



Question Number : 13 Question Id : 284703247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
. = IPv2, IPV3
. = IPv2, IPv4
- = IPv2, IPv6
. v IPv4, IPv6

Question Number : 14 Question Id : 284703248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT an example of input device?
Options:

1 # Scanner

-~ % Mouse

- » Keyboard

4 « Printer

Question Number : 14 Question Id : 284703248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 284703249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The of a computer controls the real-time clock to maintain data and time.



Options:
. % BIOS

o>  CMOS chip

s % SCSI

4 % IDE

Question Number : 15 Question Id : 284703249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T FYET F 22T 3R A FAT W ¥ fov Rue-ess Far # kT wwar g

Options:

. % BIOS

> v CMOS fra
. » SCSI

. » IDE

Question Number : 16 Question Id : 284703250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A URL. which is a unique address, identifies which of the following on the web?
Options:

1 #% Web browser

®

> % PDA

5 « Website

&,

4 B Link

Question Number : 16 Question Id : 284703250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 284703251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of starting a computer which has been turned off is called

Options:
1 ®% Warm Boot

> « Cold Boot
=z % Online Boot

4 % Offline Boot

Question Number : 17 Question Id : 284703251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 284703252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a socket for external devices to connect to the system unit?

Options:
1 « Port

> % Flash



= % RAM

4 % ROM

Question Number : 18 Question Id : 284703252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 284703253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a network of computers that connects people all over the world called?

Options:
1 ® Web

- « Internet
2 ®# LAN

4 % WAN

Question Number : 19 Question Id : 284703253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 284703254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is eradication of error from a computer program or system called?
Options:

, » Compiling

- u Interpreting

5  Debugging

4 % DSS

Question Number : 20 Question Id : 284703254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 284703255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For printing a document you have to switch on:

Options:
1 « Printer
> % Monitor

= % Scanner

4 # Keyboard



Question Number : 21 Question Id : 284703255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 284703256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following spell check feature is integral part of Microsoft Word?

Options:

, % Grammarly

-  Wword spell check
- # Language tool

4, » Dictionary

Question Number : 22 Question Id : 284703256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 284703257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is NOT included in the Slideshow option available to a presenter?

Options:
, w Speaker notes command

> w Meeting reminder command
5 » Navigation command

4 « Transition command

Question Number : 23 Question Id : 284703257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 284703258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
. X has no printer to print his report. He wants to take it to Me. ¥'s computer because Mr. Y has a printer. Mr. X
could save his report on a

Options:
1 % hard disk

-~ % piece of paper
3 # scanner

4  Hoppy disk

Question Number : 24 Question Id : 284703258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 284703259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A popular programming language for developing multimedia web pages is:

Options:
1 ® COBOL

> « Flash
z ® BASIC

4 % FoxPro

Question Number : 25 Question Id : 284703259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 284703260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Oracle is a/an

Options:

1% operating system



- % word processor

5 « database software

4 w designing Software

Question Number : 26 Question Id : 284703260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 284703261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A central computer, which is concerned with collections of data and programs for PCs, workstations and other

computers, is known as:
Options:
, # supercomputer

- % minicomputer

- = laptop

4 o Server

Question Number : 27 Question Id : 284703261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 284703262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be a likely reason for a computer rebooting itself continuously?

Options:
1 « Ithasa virus

-~ % It does not have enough memory
5 % There is no printer

4 » Speakers not working properly

Question Number : 28 Question Id : 284703262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 284703263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a rectangular area meant for inserting graphics and text in desktop publishing programs?
Options:

, w Application

> % Window



= o Frame

4 % Slide

Question Number : 29 Question Id : 284703263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 30 Question Id : 284703264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following are called modifier keys?

Options:
1 ¥ Ctrl. Alt

» u Toggle keys

5 % Delete. Insert

4 = Caps lock. Num lock

Question Number : 30 Question Id : 284703264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 31 Question Id : 284703265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A symbol on the computer screen that represents a disk, a decument or a program that can be selected is known as:
Options:
| % Keys

> % Caps
= o Icon

4 % Monitor

Question Number : 31 Question Id : 284703265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 32 Question Id : 284703266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What are telephone numbers, birth dates and customer names examples of?

Options:
1 « Data

~ u Directory

3 # File

4 % Hard drive



Question Number : 32 Question Id : 284703266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 284703267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT used to analyse spreadsheet data?

Options:
, w» What-if analysis

>  Mail merge
5 » Goal seeking

4 ® Sorting

Question Number : 33 Question Id : 284703267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 284703268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Excel will probably consider the cell entry ‘December 31. 2017’ to be a:
Options:
1 % label

> o value
- % formula

4 % text

Question Number : 34 Question Id : 284703268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 284703269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When a formatted number does NOT fit within a cell, it is displayed in Microsoft Excel as:

Options:

5 % #DIV/0

. x @EQOE

i v nipet i i

Question Number : 35 Question Id : 284703269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AEHEYE T H J9 Us BHcS A97 T & day fihe 787 g1ar 2, 99 F4r Frcer g ar 272

Options:




| v B
. = #DIV/O

. x HDIV@

.« QREEE@

Question Number : 36 Question Id : 284703270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the options are the most commeon input devices?

Options:
, % Microphone, printer

> % Scanner, monitor

5 » Digital camera, speakers

4  Keyboard, mouse

Question Number : 36 Question Id : 284703270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frrafafEa #& @ #ia @ saqe Fasw gaw oA g saqe ey &2

Options:

|« FEwE, Hew
o x T, AleeT

. « TEfoEd FET, TS

., v HEE, A

Question Number : 37 Question Id : 284703271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hidden files in UNIX can be listed by using which of the following commands?
Options:

1 % Is-l



Question Number : 37 Question Id : 284703271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® s -l

- « Is -a
z % Is -r

4 ® Is -t

Question Number : 38 Question Id : 284703272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following application/command is used to reduce the size of a file?

Options:
, % Backup

> « WinRAR
= % Uninstall

4 # Antivirus

Question Number : 38 Question Id : 284703272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WEA F B FI 77 7= & fov Feae@a & o &y veis=m/FaE #1393 Far s 22

Options:

1. = aa;-}Tq
> v @

g, :
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Question Number : 39 Question Id : 284703273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Word 2007 text can be italicised by pressing:

Options:

1 & Ctrl+1I
> % Cirli+B
z & Crl+U
4 % ChHl+V

Question Number : 39 Question Id : 284703273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g% 2007 H FEE F scfow o F OT Far g9 51 wehar g7

Options:
L v Ctrl + |

. % Ctrl + B
2 % Ctrl + U

4% Ctrl +V

Question Number : 40 Question Id : 284703274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following repairing tool for software bugs is available on the internet?

Options:
1 % Version

> % Add-on
3 « Patch

4 % Tutorial

Question Number : 40 Question Id : 284703274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 284703275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In network, physical address can be:

Options:
1 # unicast

> % multicast
= % broadcast

4 + Unicast, multicast and broadcast

Question Number : 41 Question Id : 284703275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e aead & w3 & T 2

Options:

, o TFerE, gede AR sEw

Question Number : 42 Question Id : 284703276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One of the common examples of electronic eavesdropping is:

Options:



| % Teverse engineering
> % copyright theft
- % intercepting frames

. intercepting telephonic calls

Question Number : 42 Question Id : 284703276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
fT=of@a & & Fi9 T 33T soagits AGa! (SSHSIN) & WHAT 360 H F TF 87

Options:

| T (R St

o PIUREE =T
. » SHFH W HEUUS (SR %)

, » OIS FIcH & AU (SSTUCET TAHIF HloH)

Question Number : 43 Question Id : 284703277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
printing enables users to tap a device, such as a tablet or phone, on to a printer to connect to it.

Options:
1 % NFS-enabled

®

> « NFC-enabled

.

Wi-Fi-enabled

Ly
u

4 w Tap-enabled

Question Number : 43 Question Id : 284703277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % NFSE=iwes



, » NFC-Zoidges
. » Wi-Figagcs
., » TapS«scs

Question Number : 44 Question Id : 284703278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Windows programs add hidden secret codes known as to end of file names.

Options:
, w filetypes

file formats

[
®

= « file extensions

&,

4 # file codes

Question Number : 44 Question Id : 284703278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
FIEe AT & 3T H &HE W T g9 Td FI5 A3 o 8, oo FgT 7T 2l

Options:

| ® DIgcl CIgYH

, « WISA BIHIH
5 o TS TFHCATH

. % IS HEH

Question Number : 45 Question Id : 284703279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
invented the QWERTY keyboard layout.

Options:
. Christopher Sholes

> # Steven Roberts



= % Isaac Newton

4 #% Dennis Ritchie

Question Number : 45 Question Id : 284703279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

7 QWERTY FEIE 33T T AgsaR T o
Options:
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Question Number : 46 Question Id : 284703280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an option of Auto Fill feature in Microsoft Excel?

Options:

1« Copy columns

> % Fill series

- » Fill formatting only

4 % Fill without formatting

Question Number : 46 Question Id : 284703280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 47 Question Id : 284703281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Lines that visually clarify information in a chart are called:

Options:
| « gridlines

> % graphic

5 u gallery

4 % group

Question Number : 47 Question Id : 284703281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ﬁﬂﬁﬁaﬁﬁﬁﬂ%maﬁaﬁﬁﬁ(ﬁgﬁ}mmﬁ 3o T Fal T 872

Options:

1.+ iagE“g”

~ % ek
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Question Number : 48 Question Id : 284703282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is formed by connecting multiple personal computers together?

Options:
1 ® Server
5 % Supercomputer

3 « Network

4 w Enterprise



Question Number : 48 Question Id : 284703282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T A 5 THAT FEGEA P ASH AeATolehd H F FAT SATIT AT 87

Options:

1_$-\qé1

= o ﬁ_c.'_qrﬁfl-_:
4 ® TETHTE =

Question Number : 49 Question Id : 284703283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft Word, which of the following keys should be pressed to align the selected paragraph to its right?

Options:

1 % Cirl+E
> o Cirl+R
3 % Cirl+L
4 % Ctrl+U

Question Number : 49 Question Id : 284703283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AEFETE 92 ¥, T9ufag WETE F IEF g 3R TaEa +a F v Gl a o s a@

Options:

. % Cirl + E
.« Ctrl + R
s % Ctrl + L

L% Ctrl + U

Question Number : 50 Question Id : 284703284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The device that is used to transmit data over telecommunication lines is called:
Options:
1 ® drive

- u drive bay

&,

= « modem

4 % Dplatform

Question Number : 50 Question Id : 284703284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THIR T8l R 2T FIOIRT A & ¢ & &1 Zarsw v gaer &Far s g2

Options:

1_&33'33

> x RIS
3 v HIZH

4_%@?@

Question Number : 51 Question Id : 284703285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Modem is used to

Options:
1 ®

translate analog signals from a computer into digital signals that can travel along conventional telephone lines.

z. ¢
translate digital signals from a computer into analog signals that can travel along conventional telephone lines.

- » demodulate digital signals from a computer.

4 % modulate signals an analog telephone line.

Question Number : 51 Question Id : 284703285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o F o s e aeg o 93T B e 32

Options:
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Question Number : 52 Question Id : 284703286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which feature in Windows 10 is used to connect to public or private Wi-Fi Spots?

Options:
1 « Wi-Fi sense

> % Wi-Fipublic
5 # Wi-Fi private

4 % Wi-Fi connect

Question Number : 52 Question Id : 284703286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TEFEE T TS TE-EE T § w9 7§ Tw e 10 § Tt F ey dfimer =

suater o ST BT
Options:

.« Wi-Fi g9
> % Wi-Fi gfesre
. » Wi-Fi 9153e

4 % Wi-Fi Fas<

READING COMPREHEMNSION
Section I1d : 28470323



Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 28470323
Question Shuffling Allowed : Yes

Question Id : 284703287 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension



Read the following passage and answer the questions
given below:

A number of ants were down in a pit, where they now
had killed some bugs and other insects for food. They now tore
up these into small bits and began carrying them up the wall
of the pit. This was difficult work for them. The sides of the
pit were steep. and each ant was carrying about one and half
times its own weight. Think of a man who is carrying a weight
of two hundred pounds up a cliff. The work that each ant in
the pit was doing was similar to that. The ants went about their
work in their manner: while some carried up the bits of insects:
others went in front and cleared away any sand or small stones,
which were in the way. These others, again. placed themselves
at some points where it was difficult to get a foothold and
allowed the ants with the loads to climb over them.

Near the top of the pit, however, there was nearly a foot
of the way. which was completely smooth and steep. Here
there were no footholds. The ants came up to this point and

their progress stopped. It seemed that after all, they were
defeated.

Of the many ants. which tried to climb this portion. only
one reached the top. This one is immediately met by a number
of ants from the ant-hill. to whom he communicated
something. They peeped into the pit. And then a remarkable
thing happened.

The ants at the top began climbing down into the pit
backward. each holding the tail end another ant in front. In
this way they formed an ant-chain. which slowly moved
down the steep side. When it reached the ants waiting with
their loads. they easily climbed up the chain and came out at
the top. Many incidents like this have been observed.
showing the cleverness and courage of ants. Now science has
discovered many other interesting facts about ant life.

Sub questions

Question Number : 53 Question Id : 284703288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“This was difficult work for them.’ Which work is

difficult for them?
Options:
, = Killing a bug or an insect.



> % Making them info pieces to carry.

-  Carrying the pieces of the insect to their ant hill.

4 % Walking on the edge of the wall.

Question Number : 54 Question Id : 284703289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why did the ants feel they were defeated?

Options:
, » They were defeated by another group of ants.

> % They were unable to move further.
-  The ants could not find any foothold to move on.

4 # The ants could not hold one another to move on.

Question Number : 55 Question Id : 284703290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What was the communication between the ant which

reached the ant hill and other ants in the hill?
Options:
that the other ants were unable to reach because of

, % theheavy weight on them.

that the ants were unable to reach the top because

- % other insects are blocking them.

that the ants were unable to reach the top because

-  they could not foot hold the ground to move on.

that the ants were unable to reach because the ground was
4 % hot.

Question Number : 56 Question Id : 284703291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How was the ant-chain formed?
Options:



, w» By forming an ant tree.

Each ant held the tail of the other to reach the
> o bottom.

- » Each ant dropped some liquid for others to follow.

4 % By dropping the heavy weight on their heads.

Question Number : 57 Question Id : 284703292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘What has science discovered of ants?
Options:

1 # Ants can think and act.

> % Ants are more clever than humans.

- » -Ants can help other ants in danger.

4  Ants are clever and courageous like humans.

Question Id : 284703287 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 284703288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
| % U HI T T HIZ HI ARGAT

= o I & AT 37 gRst A Frear

, “NfeaT & T@rEr T Her F goRSt H A A

£,

Question Number : 54 Question Id : 284703289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 284703290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=fitear fr 92Er I '-qéﬂm arelr =ér A T
Ao 3= difedl & 9= F alrfzﬂdgéiﬁ‘?

Options:




& 30 Hiftar 37 ov 9 a9 & FoT W

|, T s

T =g dfifewr 3= Fel @rr T T I
% HROUT TR TG H 3TAY T

5

2.46

%mzﬁﬁﬁmﬂ?ﬁﬁmﬁ%a—ﬁ%
T §e7 & fov IHE W K feFEr wee

%maﬁﬁﬁm@ﬁmﬁ%a—ﬁ%

Question Number : 56 Question Id : 284703291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 284703292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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CUANTITATIVE APTITULE
Section Id : 28470324
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 28470324
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 284703293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that should come in place of the question mark (?) in the following number series.

8 9 20 63 256 1Z85 ?
Options:
| ® 6430

> % 7450
s o 7716

4 % 7746

Question Number : 58 Question Id : 284703293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



. % 6430
, % 7450

7716

w
S

. % 7746

Question Number : 59 Question Id : 284703294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dieepa rides her bike at an average speed of 30 km/hr and reaches her destination in § hours. Hema covers the same

distance in 4 hours. If Deepa increases her average speed by 10 kim'hr and FHema increasas her average speed by
£ kmvhr, what would be the difference in their time durations taken to reach the destination?

Options:
1 « 54 minutes

> % 1 hour
= % 40 minutes

4 % 45 minutes

Question Number : 59 Question Id : 284703294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 60 Question Id : 284703295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Select the appropriate option that will come in place of question mark (?) in the following number series?
6. X 33 A9 W 2

Options:
1 ® 05

> o 96
2 ® 85

I 01

Question Number : 60 Question Id : 284703295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

> v 96

Question Number : 61 Question Id : 284703296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the approximate value will come in place of question mark {7) in the following questions? (You are not expected
to calenlate the exact value. )

80,988% of 690.9 — 50,002% of 900,00 — 170015 = 7
Options:

, ® 990

> % 900



Question Number : 61 Question Id : 284703296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH FIAAE AIA F 909 F1 A ey T 7 WE [{EF (7) §F TS 9 AR (0eE TS
ITH 1 AOTAT FI S FHUST F4 AT E

6999 &7 89.988% + 999.99 = 50.002% - 170.0156 = 7
Options:

% 990

. = 900
- = 920

. v 960

Question Number : 62 Question Id : 284703297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The HCF of two numbers in the ratio 2 ; 7 is 23. Find their LCM?
Options:

1« 322

o> ® 46
s % 151

4 B 197

Question Number : 62 Question Id : 284703297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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3 % 151

4 » 197

Question Number : 63 Question Id : 284703298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Shrikanth and Vividh started a business investing amounts of T 185,000 and § 225,000, respectively. If Vividh's share
in the profit earned by them is T 9,000, what is the total profit eamed by them together?

Options:

1 % < 17.400

5 T 16,400

2 » < 16,800

4 % T17.800

Question Number : 63 Question Id : 284703298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % T17,400

. « 316,400

. = 16,800

. & 17,800

GEMERAL MENTAL ABILITY AMND REASONING

Section Id : 28470325
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 28470325
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 284703299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Man : Biography : : Nation : ?
Options:
1 % Leader

- u People
5 = Geography

4  History

Question Number : 64 Question Id : 284703299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 284703300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Hong Kong : China : : Vatican : 7
Options:
1 « Rome

> % Mexico

- % Canada



4 » Christianity

Question Number : 65 Question Id : 284703300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3F faFeT # 90a F SF JEY e ¥ O 3E 1g H9fad g O TR gET e T e ¥
FEfoa 2

BT 14T : =T : - AfEehet @ ?
Options:

v
2_3&%

T B che E_

4 % SEIS O

Question Number : 66 Question Id : 284703301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Spinach : Fenugreek : Celery
Options:
, = These are cactus plants.

> # These are wild flowers.

- % These are wild plants.

4  These are leafy vegetables.

Question Number : 66 Question Id : 284703301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 284703302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Tola : Masha : Ratti
Options:
, w They are units of time.

- u They are fruits of wild plants.

5  They are units of weight.

4 % They are terms used in Ayurveda.

Question Number : 67 Question Id : 284703302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 284703303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Select the option that 1s related to the third number on the same basis as the second mmber is related to the first number.

O8O 100; Y
Options:
1 % 901

> % 1009
5 % 9889

4« 9999

Question Number : 68 Question Id : 284703303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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. = 901

> % 1009

5 % 9889

4, 9999

Question Number : 69 Question Id : 284703304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how many did he solve

correctly?
Options:
1 ® 12
o o 16

T B 18

4 B 24

Question Number : 69 Question Id : 284703304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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GEMNEREAL AWARENESS

Section Id : 28470326
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 28470326
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 284703305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SERB stands for:
Options:

, w Social Enlightenment and Research Board

> % Scientific and Engineering Research Board

- % Scientists and Engineering Research Board

4 « Science and Engineering Research Board

Question Number : 70 Question Id : 284703305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 284703306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Mother Teresa was awarded the Nobel Peace Prize in:
Options:

1 ® 1976

> « 1979
5 % 1969

EE 1971

Question Number : 71 Question Id : 284703306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 1976
-« 1979
- = 1969

4 % 1971

Question Number : 72 Question Id : 284703307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following Urdu poets was invited to the second and third round table conference?

Options:



1 = Faiz Ahmad Faiz
> % Josh Malihabadi

=  Muhammad Igbal

4, » Firaq Gorakhpuri

Question Number : 72 Question Id : 284703307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 284703308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which former national level volleyball plaver created history by becoming the first female amputee to conguer hMount

Everest i May 20137
Options:
, w Premlata Agarwal

> % Santosh Yadav
= « Arunima Sinha

4 % Bachendri Pal

Question Number : 73 Question Id : 284703308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 284703309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The State of Assam has:

Options:

, « five national parks and eighteen wildlife sanctuaries.

- u three national parks and nine wildlife sanctuaries.
- % three national parks and eight wildlife sanctuaries.

, % twonational parks and six wildlife sanctuaries.

Question Number : 74 Question Id : 284703309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 284703310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Microcredit means:

A loan of a small amount to people in the unorganised sector.
. A loan to self-help groups.
A loan amounting between T 50 lakh and T 5 crore to medium and small industrial units.

o bd =

Which of these is/are true?
Options:
; % Onlyl

> # Only2
-  Only1and2

4, % All1,2and3

Question Number : 75 Question Id : 284703310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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English Typing Test

Section Id : 28470327

Section Number : 1

Section type: Typing Test
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Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |1d: 28470327
Question Shuffling Allowed : No

Question Number : 76 Question Id : 284703311 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 28470328
Question Shuffling Allowed : No

Question Number : 77 Question Id : 284703312 Question Type: TYPING TEST Display Question Number : Yes

Mount Everest is the highest mountain peak in the world which is famously known as Sagarmatha in Nepali
and Sanskrit. Like other high peals in the region, Mount Everest has long been revered by local people. Its
most corumeon Tibetan name, Chomolungma, means Goddess Mother of the World or Goddess of the Valley.
The Sanskrit narme Sagarmatha means literally Peak of Heaven. [ts identity as the highest point on the earths
surface was not recognized, however, until 1852, whern the governmental Survey of India established that fact.
Asof 2017, more than 7,600 people have reached the top of the mountain. The Himalayas themselves started
rising about twenty five to thirty million years ago, and the Great Himalayas began to take their present form
during the Fleistocene Epoch. Everest and its surrounding peaks are part of a large mountain massif that
forms a focal point, or knot, of this tectonic action in the Great Himalayas. Information from global positioning
instruments in place on Everest since the late 149905 indicates that the rmountain continues to move a few
inches to the northeast and rise a fraction of an inch every year. Mount Everest is composed of multiple layers
of rock folded back on themselves. Everest is shaped like a three sided pyramid. The three generally flat planes
constituting the sides are called faces, and the line by which two faces join is known as a ridge. The North Face
rises above Tibet and is bounded by the North Ridge and the West Ridge, key features of this side of the
mountain include the Great and Hornbein couloirs and the North Col at the start of the North Ridge. The
Southwest Face rises above MNepal and is bounded by the West Ridge and the Southeast Ridge. The sumimit of
Ewerest itself is coverad by rock hard snow surmounted by a laver of softer snow that fluctuates annually by &
to 20 feet. The snow level is highest in Septerrber and lowest in May after having been depleted by the strong
north westerly winter winds. The sumrmit and upper slopes sit so high in the earths atrmosphere that the
amournt of breathable oxygen there is one third what it is at sea level. Lack of cxygen, powerful winds, and
extremely cold termperatures preclude the development of any plant or animal life there. The mountains
drainage patterrl radiates to the southwest, north, and east. The Khumbu Glacier melts into the Lobujya river
of Mepal, which flows southward as the Imja River to its confluence with the Dudh Kosi River. In Tibet the
Rong River originates from the Pumori and Rongbulk glaciers and the Kama River from the Kangshung Glacier
both flow into the Arun River.
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